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QUESTION 1

A developer creates a Web service for his company\\'s inventory service. He uses servlet container to deploy the web
service and wants to enable basic authentication for all web service invocations. Where does the developer configure
security requirements for the above case? 

A. sun-jaxws.xml 

B. web.xml 

C. webservices.xml 

D. domain.xml 

Correct Answer: B 

 

QUESTION 2

In the code fragment below, the client will use os to upload data to the web service provider. 

Choose the statement that must be placed in line 5, to ensure this fragment works as intended. (Choose one) 

A. connection.setDoOutput(true); 

B. connection.setAllowUserInteraction(true); 

C. connection.setIfModifiedSince(new Date().getTime()); 

D. connection.setUseCaches(false); 

Correct Answer: A 

 

QUESTION 3

An engineer is studying the architecture of the JAXB implementation. What are three components in its design?
(Choose three.) 

A. Schema compiler. 

B. Built-in SAX parser. 

C. Schema generator. 
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D. Built-in DOM parser. 

E. Binding runtime framework. 

F. Schema interpreter. 

Correct Answer: ACE 

 

 

QUESTION 4

Choose the code fragment that corresponds to a resource delegating processing of a request to a subresource
correctly, when processing the URL "/parent/child" (Choose one): 

A. @Path("/parent") class Parent { @Path("/child") Child getChild() { return new Child(); } } class Child { @GET String
getName() { return "name"; } } 

B. @Path("/parent") class Parent { @GET @Path("/child") Child getChild() { return new Child(); } 

} 

class Child { 

@GET String getName() { return "name"; } 

} 

C. @Path("/parent") class Parent { @Path("/child") Child getChild() { return new Child(); } } @Path("/child") class Child {
@GET String getName() { return "name"; } } 

D. @Path("/parent") class Parent { @Path("/child") Child getChild() { return new Child(); } } class Child { String
getName() { return "name"; } } 

Correct Answer: A 

 

QUESTION 5

A company is building a customer relationship management system that is to be deployed on a customer\\'s network,
and they want software functions to be reused and combined in different modules in the system. The Director of
Technology has determined that the new system should utilize both Web services and a Service Oriented Architecture
(SOA). Which two statements about Web services in an SOA are correct? (Choose two.) 

A. A Web service must be discovered from a UDDI registry in an SOA. 

B. SOA and Web services both use the HTTP protocol at the transport layer. 

C. A Web service must publish itself to a UDDI registry to become part of an SOA. 

D. SOA is a way to design a system and Web services are a possible implementation. 

E. SOA is used for stateless invocations, and Web services for stateful invocations. 
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F. SOA emphasizes the concept of service encapsulation and Web services fulfill a service contract. 

Correct Answer: DF 
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